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QUESTION 1

What letters appear next to a route, which is automatically created by RouterOS when user adds a valid address to an
active interface?

Al

B.D
C.A
D.S
E.C

Correct Answer: BCE

QUESTION 2

Consider the following diagram. We want to communicate from a device on LANL1 to a device on LAN2. Assuming that
all necessary configurations are already included on R2, which of the following configurations in R1 would enable this
communication?
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A. /ip route add dst-address=192.168.1.0/24 src-address=192.168.0.0/24 gateway=192.168.99.2
B. /ip route add dst-address=0.0.0.0/0 gateway=Etherl

C. /ip route add dst-address=192.168.0.0/24 gateway=192.168.0.1

D. /ip route add dst-address=192.168.1.0/24 gateway=192.168.99.2

E. /ip route add dst-address=0.0.0.0/0 gateway=192.168.99.2

Correct Answer: D

QUESTION 3

Which protocol does DHCP use at the Transport layer?
A IP

B. TCP

C. UDP

D. ARP
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Correct Answer: C

QUESTION 4

Which of these are possible solutions to bridge two networks over a wireless link:
A. Both devices in AP mode and enable WDS mode

B. One device in AP mode, another one in station-pseudobridge-clone

C. One device in AP mode, another one in station-pseudobridge

D. One device in AP mode, another one in station

Correct Answer: A

QUESTION 5
Action=redirect is applied in
A. chain=srcnat

B. chain=forward

C. chain=dstnat

Correct Answer: C
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